2013-04-29 Kevatsarja Vv

Jakotaulut
7 poytaa,
Sija Pari
1 2
2 14
3 12
4 7
5 5
6 13
7 3
8 11
9 9
10 4
11 10
12 6
13 8
14 1
Jako: 1
Pari Sit
7 4 3N
12 5 3H
14 1 1H
9 11 2H
8 13 1IN
6 10 2N
3 2 3N
Jako: 3
Pari Sit
7 11 5D
13 6 28
9 1 3C
8 5 5D
4 3 28
10 12 3N
14 2 3N
Jako: 5
Pari Sit
5 4 6C
1 7 4s
8 12 58
9 6 58
10 2 4s
11 13 58
14 3 4s
Jako 7
Pari Sit
2 8 2H
9 13 2H
12 1 1IN
6 5 3H
11 3 3H
14 4 3H
10 7 38x
Jako 9
Pari Sit
3 9 2N
14 5 3N
7 6 1IN
10 1 1IN
11 8 1IN
12 4 1IN
13 2 3N

14 paria.

Pisteet

-3
-1
+1
+1
+2
+2
+1

191
180
180
179
175

171
167
156
156
151

133
120
114
111

LK
S5
C3

C3
C5
DA
DA

LK
HQ
H8
sS4
S9
ca
s7

= HQ

+1
+1
+2
+1
+1
+1
-2

LK
SA
DA
DA
DA
DA
DK
DK

LK
S2
S2
D7
S10
S10

HA

LK
H4
SJ
S10
H4
H4
SJ
SJ

Jakomaéara:

% Vert

61,2
57,7 2
57,7 O
57,4
56,1

54,8
53,5
50,0 2
50,0 0
48,4

42,6
38,5
36,5
35,6

Tulos
150

-110
-140
-150
-180
-430

Tulos
200
200
110
100
-100
-600
-600

Tulos
1370
-450
-450
-450
-450
-450
-450

Tulos
-140
-140
-150
-170
-170
-170
-500

Tulos
100
100
-90
-120
-120
-120
-600

26. Keski:

Nimi

156.

Vertailu.

HENRIK LAAKSONEN - LEIF MICKELSSON

JUKKA PETTERSSON

- RISTO NOKI

TIMO MAKELA - EINO NYGREN
PERTTI HOLMBERG - NIKOLAI KAPLITSNOI
JANNE HOLMQVIST - KIMMO KANERVA

ANTTI ALEN - VELI-PEKKA LUKKA

RIITTA-LIISA MAKELA - LIISA KANKAANPAA

Harry Vuorinen - STIG-OLOF ANDERSSON
HANNU LINDEBERG - TAPIO KYRONLAHTI
TAISTO LOUHIKOSKI - JORMA VAPAA

MERJA MOLSA - REIJO HAARTOLA
ANTTI VOITTO - Lasse Saloranta
KARI LAUNIS - MARKKU JUVA

PERTTI LEHTINEN

Pisteet
12 0
10 2

8 4
6 6
4 8
2 10
0 12

Pisteet
11 1
11 1

8 4
6 6
4 8
111
111

Pisteet

12 0
5
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Pisteet
11 1
11 1

8 4
4 8
4 8
4 8
0 12

Pisteet
11 1
11 1

8 4
4 8
4 8
4 8
0 12

Jako:
Pari
6 10

14 1

12 5
7 4
9 11
8 13
3 2

Jako:
Pari

13 6
9 1
7 11
4 3

10 12

14 2
8 5

Jako:
Pari

10 2
9 6
1 7

14 3
5 4
8 12

11 13

Jako
Pari
2 8

10 7

14 4
6 5

11 3

12 1
9 13

Jako
Pari

14 5

11 8

12 4

13 2
7 6
3 9

10 1

- JAAKKO VIIMA

2

Sit LK

4D W +3 S8

3D E +4 SQ

5D E +2 SQ

3N W +2 C2

3N W +2 H2

3Ssx S -3 H10

E

6

D +1 HJ

4

Sit LK
3N S +1 H3
3N s = 387
1S N +4 C9
2S N +1 H6
2D N +2 H6
1D N +2 H4
IN N =CJ
6

Sit LK
2H E +3 CA
2N W +3 Cé6
4H E +1 S5
4H W +1 sS4
3N W +2 HS8
3N W +2 s4
3N W +2 S8
8

Sit LK
5Cx E -5 DK 1
4Sx W -3 DA
4H N +1 C6
4H N = H3
4H N = D7
4H N = CA
2H N +2 H3
10

Sit LK
3N E -4 C9
IN E -2 C9
3H E -2 D9
38 W = 87
IN W +2 S8
3C S -2 SA
4C S -3 sSA

Tulos
-190
-190
-440
-460
-460
-800
-940

Tulos

630
600
200
140
130
110

90

Tulos
-200
-210
-650
-650
-660
-660
-660

Tulos
100
500
450
420
420
420
170

Tulos
400
200
200
-140
-150
-200
-300

Kerho

Bk
Bk
Bk
Bk
Bk

Salon
Salon
Salon
Salon
Salon

Bk
Bk
Bk
Bk
Bk

Salon
Salon
Salon
Salon
Salon

Bk
Bk
Bk
Bk

Salon
Salon
Salon
Salon

Pisteet
11 1
11 1

Pisteet
12 0
10 2

Pisteet
12 0
10 2

7 5

DN
=
=}

Pisteet
12 0
10

8

O > b

P w w3



Jako: 11 Jako: 12

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
8 7 4S N +2 H3 480 12 0 11 2 3N S +2 S2 660 11 1
11 2 4S N +1 CK 450 8 4 14 6 3N S +2 S2 660 11 1
12 9 4Ss N +1 D6 450 8 4 4 10 3N S +1 H4 630 7 5
14 6 4S N +1 C4 450 8 4 12 9 3N S +1 H4 630 7 5
4 10 3N S +1 HS8 430 4 8 13 5 2Sx E -3 HK 500 4 8
13 5 4S5 N = CK 420 2 10 1 3 1H S +2 Cé 140 2 10
1 3 35S N +1 CK 170 0 12 8 7 2H S = 82 110 0 12
Jako: 13 Jako: 14

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
13 10 2H S = Cé6 110 12 0 12 3 4s S +1 H3 450 12 0
511 2H S -1 D10 -100 10 2 1 6 4S S = CA 420 8 4
2 4 4H S -2 s4 -200 7 5 9 8 45 s = 389 420 8 4
14 7 3N N -2 83 -200 7 5 14 7 4SS S = S9 420 8 4
9 8 3N N -3 C3 -300 3 9 13 10 58S N -1 C9 -50 4 8
12 3 4H N -3 C9 -300 3 9 2 4 6S S -2 89 -100 111
1 6 2N N -4 C3 -400 0 12 511 6S S -2 C4 -100 111
Jako: 15 Jako: 16

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
13 4 3N N +3 59 690 12 0 2 7 3N S +1 s10 430 12 0
14 8 3N S +2 D4 660 10 2 14 8 3N N = Cé6 400 10 2
10 9 5C S = H4 600 8 4 13 4 2N N +2 D8 180 8 4
111 3¢ s = D8 110 6 6 6 12 2N N = C6 120 6 6
3 5 4H N -1 D7 -100 3 9 3 5 2C S +1 S5 110 4 8
6 12 3N S -1 D10 -100 3 9 10 9 3D N -1 C3 -50 2 10
2 7 6N S -2 D10 -200 0 12 111 3H S -3 D8 -150 0 12
Jako: 17 Jako: 18

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
7 13 2SS S +1 DK 140 12 0 7 13 3C N +2 H2 150 12 0
11 10 2S S = Hé6 110 10 2 4 6 2H S +1 SA 140 10 2
2 12 4s s -1 DK -50 6 6 1 5 1IN N +1 87 120 8 4
3 8 3S S -1 H6 -50 6 6 2 12 3D N = H4 110 5 7
4 6 4s S -1 D2 -50 6 6 14 9 3C N = g7 110 5 7
1 5 3H N -2 D6 -100 2 10 3 8 3N S -1 s4 -100 111
14 9 2D E +1 C7 -110 0 12 11 10 5C N -1 HJ -100 1 11
Jako: 19 Jako: 20

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
3 13 3Hx W -2 S5 500 12 0 4 9 4S S = HS8 620 11 1
12 11 3N N +1 H7 430 10 2 5 7 4H N = 354 620 11 1
2 6 3N S =54 400 8 4 313 2S5 N +2 C4 170 8 4
14 10 4C S = HJ 130 6 6 12 11 2S N +1 H2 140 5 7
4 9 3C S = H8 110 4 8 14 10 2S N +1 H2 140 5 7
5 7 3N N -1 8J -50 111 8 1 1IN N +1 C4 120 2 10
8 1 5C s -1 5S4 -50 111 2 6 4H S -1 CA -100 0 12
Jako: 21 Jako: 22

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 1 35S W -2 HA 100 11 1 510 3N S +1 C7 430 12 0
510 3D W -2 SK 100 11 1 3 7 3N S =87 400 8 4
3 7 35S E -1 CQ 50 7 5 13 12 3N S = C3 400 8 4
6 8 2S E -1 DA 50 7 5 14 11 3N N = CJ 400 8 4
13 12 25 E = CK -110 3 9 4 1 2N S +1 DA 150 4 8
14 11 2 E = D7 -110 3 9 9 2 1IN N +1 S2 120 2 10
9 2 2SS E +1 CA -140 0 12 6 8 4H N -2 CJ -100 0 12
Jako: 23 Jako: 24

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 8 6H E -1 DJ 100 8 4 7 9 3N S +1 s4 430 11 1
5 2 6H E -1 DJ 100 8 4 14 12 3N S +1 S2 430 11 1
6 11 6N E -1 C6 100 8 4 5 2 3N S = 59 400 8 4
10 3 6H W -1 SA 100 8 4 4 8 2S N +2 DK 170 6 6
14 12 6H E -1 SA 100 8 4 6 11 3N N -1 D2 -50 3 9
7 9 4H W = SA -620 2 10 10 3 4s S -1 DK -50 3 9
113 5H E = S5 -650 0 12 113 35S N -2 C9 -100 0 12
Jako: 25 Jako: 26

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet



2 1 4s N = HK 420 12 0 2 1 38 E -3 C5 300
5 9 3Cx E -1 SA 200 9 3 11 4 2D N +1 H4 110
7 12 3Hx W -1 H6 200 9 3 14 13 2D N +1 H4 110
8 10 3S N +1 HA 170 5 7 6 3 2N W -1C3 100
11 4 2S N +2 HA 170 5 7 7 12 1IN W -1 D3 100
14 13 2S N +1 HK 140 2 10 8 10 IN N = S6 90
6 3 4D S = H2 130 0 12 5 9 1IN S -1 sA -100

NO JdJwwo

= e

Jakotaulut



